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Introduction
« Objective

o] 3%t 742 BHF T8 El0| 7]kt Digital watch
0]

« Reference
— SRS Ver. DS-2012.DWS.SRS-2.1 (2012-08-17)
— B. T8 SRA Ver. T8-2012.DWS.SRA-3.6
— B. T8 SDS Ver. T8-2012.DWS.SDS-3.6
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Test plan for Controllers

Identifier | Controller | State | ____Input ___| Expected Output

UT.000.000 2.1.1 Time Controller  Time Display btn = 'c; *stateData.cs == StopwatchDisplay;
*stateData.cs = TimeDisplay; Flag_StopwatchDisplay == 1;
changeState(*stateData);
timeController(*stateData, *timeData);

UT.000.001 btn = 'a’; *stateData.cs == TimeSetting;
*stateData.cs = TimeDisplay; Flag_TimeSetting ==
changeState(*stateData);
timeController(*stateData, *timeData);

UT.000.002 Time Setting btn = 'c} *stateData.cs == TimeSetting;
*stateData.cs = TimeSetting; Flag_MoveVariable ==
changeState(*stateData);
timeController(*stateData, *timeData);

UT.000.003 btn = 'b’; *stateData.cs == TimeSetting;
*stateData.cs = TimeSetting; Flag_addVariable == 1;
changeState(*stateData);
timeController(*stateData, *timeData);

UT.000.004 btn = ‘a’; *stateData.cs == TimeDisplay;
*stateData.cs = TimeSetting; Flag_TimeDisplay == 1;
changeState(*stateData);
timeController(*stateData, *timeData);
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Test plan for Controllers
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Identifier | Controller | State | ___Input ___| Expected Output

UT.000.005

UT.000.006

UT.000.007

UT.000.008

UT.001.000

2.1.1 Time Controller  Stopwatch
Display
Measuring
Time Off

2.1.2 BackLight Backlight On

Controller

btn = 'c’;

*stateData.cs = StopwatchDisplay;
changeState(*stateData);
timeController(*stateData, *timeData);

btn = 'b’;

*stateData.cs = StopwatchDisplay;
*stateData.ss = MeasuringTimeOn;
*stateData.ps != LapTime;
changeState(*stateData);
timeController(*stateData, *timeData);

btn = 'b’;Me

*stateData.cs = StopwatchDisplay;
*stateData.ss = MeasuringTimeOff;
*stateData.ps = LapTime;
changeState(*stateData);
timeController(*stateData, *timeData);

btn = ‘a’;

*stateData.cs = StopwatchDisplay;
*stateData.ss = MeasuringTimeOff;
changeState(*stateData);
timeController(*stateData, *timeData);

Btn = 'd}
*stateData.bs = BacklightOn;

*stateData.cs == TimeDiplay;
Flag_TimeDisplay == 1;

*stateData.cs == StopwatchDisplay;
Flag_measuringTimeOff == 1;

*stateData.cs == StopwatchDisplay;
Flag_measuringTimeOn == 1;

*stateData.cs == MeasuringTimeReset;
Flag_measuringTimeReset == 1;

Flag_backlightOn == 1;



Test plan for Data processes

Identifier | Process | ___Input | Expected Output

UT.002.000

UT.002.001

UT.002.002

UT.002.003

UT.002.004

UT.002.005

UT.002.006

UT.002.007

UT.002.008

1.5 Change State

btn = ‘a’;
stateData.cs = TimeDisplay;

btn = 'a’;

stateData.cs = TimeSetting;

btn = ‘a’;

stateData.cs = StopwatchDisplay;

stateData.ss = MeasuringTimeOff;

btn = ‘a’;
stateData.cs

StopwatchDisplay;

stateData.ss = MeasuringTimeOn;

btn = ‘a’;
stateData.cs = StopwatchDisplay;
stateData.ps = LapTime;

btn = 'b’;
stateData.cs = StopwatchDisplay;

stateData.ss = MeasuringTimeOn;

stateData.ps = LapTime;

btn = 'b’;
stateData.cs = StopwatchDisplay;

stateData.ss = MeasuringTimeOn;

stateData.ps != LapTime;

btn = 'b’;
stateData.cs = StopwatchDisplay;

stateData.ss = MeasuringTimeOff;

btn = 'b’;
stateData.cs = TimeSetting;

stateData.cs = TimeSetting;

stateData.cs

stateData.cs

stateData.cs

stateData.cs

stateData.cs

stateData.cs

stateData.cs

stateData.cs

TimeDisplay;

MeasuringTimeReset;

Laptime;

Laptime;

MeasuringTimeOn;

MeasuringTimeOff;

MeasuringTimeOn;

AddVariable;

A=l Button Interface(1.1 — 1.4)= H|AE CHAMO| A X 2SS S L|LCY.
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Test plan for Data processes

Identifier | Process | ___Input | Expected Output ___

UT.002.009

UT.002.010

UT.002.011

UT.002.012
UT.003.000

UT.003.001

UT.003.002

UT.003.003

UT.003.004

UT.003.005

1.5 Change State

2.1.4 Add Variable

btn = 'c’;
stateData.cs = TimeDisplay;

btn = ‘¢
stateData.cs = TimeSetting;

btn = ‘c;
stateData.cs = StopwatchDisplay;

btn = 'd}

timeData.cursor = CSec;
timeData.sec = 12;

timeData.cursor = CHour;
timeData.hour = 1;
timeData.pmlIndicator = true;

timeData.cursor = CMin;
timeData.min = 59;

timeData.cursor = CYear;
timeData.year = 2014;

timeData.cursor = CMonth;
timeData.month = 1;

timeData.cursor = CDate;
timeData.finalDate = 31;
timeData.date = 10;

stateData.cs = StopwatchDisplay;

stateData.cs = MoveVariable;

stateData.cs = TimeDisplay;

stateData.bs = BacklightOn;

timeData.sec = 13;
stateData.cs = TimeSetting;

timeData.hour = 2;
timeData.pmIndicator = true;
stateData.cs = TimeSetting;

timeData.min = 0;
stateData.cs = TimeSetting;

timeData.year = 2015;
stateData.cs = TimeSetting;

timeData.month = 2;
stateData.cs = TimeSetting;

timeData.date = 11;
stateData.cs = TimeSetting;




Test plan for Data processes

Identifier | _Process | ___Input | ___Expected Output

UT.004.000 2.1.5 Move Variable timeData.cursor = CDate; timeData.cursor = CSec;
stateData.cs = TimeSetting;

UT.005.000 2.1.8 Measuring Time On  stateData; stateData.cs = StopwatchDisplay;
timeData; stateData.ss = MeasuringTimeOn;
stateData.ps = None;
timeData.stStatus = true;
timeData.lapStatus = false;

UT.006.000 2.1.9 Measuring Time Off  stateData; stateData.cs = StopwatchDisplay;
timeData; stateData.ss = MeasuringTimeOff;
timeData.stStatus = false;
UT.007.000 2.1.10 Lap Time stateData; timeData.lapMin = 10;
timeData.stMin = 10; timeData.lapSec = 10;
timeData.stSec = 10; timeData.lap100Sec = 10;
timeData.st100Sec = 10; timeData.lapStatus = true;

stateData.ps = LapTime;
stateData.cs = StopwatchDisplay;

UT.008.000 2.1.11 Measuring Time stateData; stateData.cs = StopwatchDisplay;
Reset timeData.lapStatus = false; timeData.lapStatus = false;

timeData.stMin = 22; timeData.stMin = 0;
timeData.stSec = 34; timeData.stSec = 0;
timeData.st100Sec = 45; timeData.st100Sec = 0;
timeData.lapMin = 10; timeData.lapMin = 0;
timeData.lapSec = 34; timeData.lapSec = 0;
timeData.lap100Sec = 20; timeData.lap100Sec = 0;

AEHo = A7l % S 7tA|7| = Data process (2.1.13, 2.1.14)= | 2|5} ¥ & L|C}.
Backlight On (2.1.12) =5t X| 2|51 & L Ct.



Test Result

CUnit — A Unit testing framework for C.
htip://cunit.sourceforge.net/

Automated Test Bun Results

Running Suite Controllers

Running test DWs_UTC _000_000 . Passed
Running test DWs_UTC_000_001 ,,, Passed
Running test DWs_UTC _000_002 ,,, Passed
Running test DWs_UTC _000_003 ,,, Passed
Running test DWS_UTC_000_004 ,,, Passed
Running test DWS_UTC _000_005 ,,, Passed
Running test DWS_UTC _000_006 ,,, Passed
Running test DWS_UTC _000_007 ,,, Passed
Running test DWS_UTC_000_008 ,,, Passed
Running test DWS_UTC_001_000 ,,, Passed
Running Suite DataFrocesses
Running test DWS_UTC_002_000 . Passed
Funning test DWS_UTC_00Z_001 ., Passed
Funning test DWS_UTC_00Z_00Z |, Passed
Funning test DWS_UTC_00Z_003 |, Passed
Running test DWS_UTC_002_004 |, Passed
Running test DWS_UTC _002_005 .. Passed
Running test DWS_UTC _002_006 .. Passed
Running test DWs_UTC _002_007 ... Passed
Running test DWSs_UTC _002_008 .. Passed
Running test DWs_UTC _002_009 .. Passed
Running test DWs_UTC_002_0101, .. Passed
Running test DWs_UTC_002_011 ,,, Passed
Running test DWs_UTC_002_012 ,,, Passed
Running test DWS_UTC _003_000 ,,, Passed
Running test DWS_UTC_003_001 ,,, Passed
Running test DWS_UTC _003_002 ,,, Passed
Running test DWS_UTC_003_003 ,,, Passed
Running test DWS_UTC_003_004 ,,, Passed
Running test DWS_UTC _003_005 ,,, Passed
Running test DWS_UTC_004_000 Passed
Running test DWS_UTC_005_000 . Passed
Funning test DWS_UTC_006_000 |, Passed
Funning test DWS_UTC_007_000 |, Passed
FEunning test DWS_UTC_008_000 |, Passed
Cumulative Summary for Run
Type Total Run Succeeded Failed Inactive
Suites 2 2 = W& - Q 0
Test Cases 34 54 34 0] 0
Assertions 34 54 34 0] nfa
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Test Result

« Comment
— HO| CHEZ2| 42, SRA, SDS EAM et AAFETVE LX|SHA & LTt

— B = Test CaseZ Pass ot ¥ &L C}.



